
Adding and subtracting up to 100 without carrying (H - set 2)
ADDING AND SUBTRACTING 0 THROUGH 100

Name:

Time: Score: /

621) 45 + 20 = 631) 11 + 15 =

622) 3 + 21 = 632) 74 + 24 =

623) 62 + 13 = 633) 25 + 1 =

624) 9− 3 = 634) 71− 60 =

625) 65− 30 = 635) 90− 10 =

626) 13 + 15 = 636) 63− 60 =

627) 72 + 21 = 637) 4 + 43 =

628) 75− 51 = 638) 97− 56 =

629) 33 + 25 = 639) 17− 4 =

630) 6 + 53 = 640) 0 + 98 =

Mathematics: Mixed - Level 3 - Horizontal - Set 2 33 © workulum.com

https://www.workulum.com

